Dealing with 1/O Devices

4-21-2003

Ol ening Disc/ssi 'n

Do you have any questions about the
quiz?

What did we talk about last class?

Have you seen anything interesting in the
news?

0 infte Ossa ] 10 [ ents

What can we do about the growing gald
between Cle[Cory sCéed and [docessor
sCéed?
[érious oiilization [éo[Te and colers can
[foduce code that recognizes the hardware
and uses instruction set e[fensions]
[3n we [Hevent stalls b ha[Téning? b
[hat is why we try to Cinillize their iO0CactOd
We already are hitting Cle[Jory bottlenecks in
the consulCler Clarkethat&lwhy a [(THz
Cachine isnEtwice as [@st as a (IHz Clachined




(Jhe Jllle 11/O

[a [@r we have [dcussed on develoling a
Cfocessor that can Cérldr[] the
coditations we require and ho&Mlly do
thed quickly ™D

(ITthis (Hocessor elikts in a codete
vacuuld though it is uselessCIWe have to
be able to get in[dr[Cation to and ko it[]
Chis is the role o[dIand its]CérldrCance
can be [Ust as critical as the other [3rts we
have discussed [ar a syste[[]
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Hellll1] ance [I[11/O
[lste] s

Chrough it [oetilles all that really
Clatters is how long it takes to get a large
chunk oltlata out through a given deviced
[Chis ignores latency oCs$tarting things ulld
[(ITICWhen we need Core [requent sCall
bursts oCto[dCunication the [fransactions
Cér second[Tletric Clatters Clored
[@tency Clatters a lot here while
bandwidth takes a bit o[& back seat[]




[ es [1[11/0 Devices

(T devices can be characterized by their
behaviorCvho they talk toland their data
rate]
[buse CinCuit onlyChuCanCow bandwidthO
[Tdates counters or send [lilses [@r Cland y
[Cotion
[Chgnetic disks CinClit and outfuitCeomiter
high bandwidth[
Cetworks Oinfit and outCuitCéoCCuiter Chigh
bandwidth(

"I agnetic Dis |s

Have several (atters
each with its own
read Mrite headOChe %
(atters sCh between
MMand OO COC

Disk contains data and
error correction codes(] "\ J
[hese can be

intelligently doned

Jetw [T]ing

[he iCCaortance olinterldoCdlliter
coOCunications has been growing
steadily [dr the last several years]

[bst local networking uses the ethernet
[totocol where the wire is basically a bus
between Cachines[]

[dnger distances use [Acket switched
M he coOCon header [arCat
allows heterogeneous networks]




(] inite [Issa]

Do you think the [uirs will win tonight?

[T loved [$signClent [Tback to Cdidayd
Cou can get your grades on the web by
el@cuting the [dllowing coldland kbl
(huTdsersMlewisMdcal AT
Docullents[TtadesTtadeheckBat[$e
your [OhuJogin nalJeCour original
Cassword is your Cldigit student nuCberd




